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Notes 3.1 Intro to Polynomials

Investigation

Scott is participating in Fit Month at his gym. Below you will find a bar graph and a table to show
Scott’s pushup data from last year.
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a. Write the recursive and explicit equations for how many pushups he did each day (f (n) from

the table). Show how your equations relate to the bar graph or the table.
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b. Write the recursive and explicit equations for how many pushups he has done total for the
month (g(n) from the table). Explain how your equations relate to the equations in a.
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This year Scott plans to do even more pushups. Use the table below.
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G How many pushups will Scott complete on day four this year? 25
How did you find this number? (+ (S 4+he Same asS 9 (4)

Write the recursive equation to represent the total number of pushups Scott will complete for
the month on any given day, m(n).
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What type of function do you think m(n) will make? Why do you think it will make that type
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d. How many total pushups will Scott have completed for the month on day four this year?
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e. What type of function do you think T (n) will make? Why do you think it will make that type

of function?
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Functions

Type of Function Equation Graph
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